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1. Let edge of each cube 4cm

= a em

Volume of cube= 64cm
'

>

as = 64
⇐⇒

<
4cm

a=E

a = 4 crime

For the resulting cuboid

length ,
1=-4+4--8 rum

breadth
,
b= 4cm

height , h= 4cm

Surface area of resulting cuboid __2( lbtbhthl
=2 ( 8×4 -14×41-4×81

= 2 (32-11-6-132)
= 2×80

= 160cm 'd

2. Diameter of hemisphere = 14cm '

6am

Radius of hemisphere,r= -4--12-4=7em - *
7cm

Radius of base of cylinder ,h= 7cm -

Total height of vessel = 13cm
Height of cylinder, h= 13-7=6 mm
Inner surface area of toy -_ curved surface

area of cylinder -1 curved surface
area of hemisphere
= 21Th h -1 Ziti

= Zits ( Inter)
= 2×2>4×7%6+7)

-
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= 2×22×13

= 572 emf

~

3. Radius of base of cone and
hemisphere, h= 3.5cm

12cm

Total height of toy = 1s -Sem

Height of cone, h= 15.5-3.5=12cm

✓ 3-5cm
Slant height of come, b- hi-hat

or l= FEI
or l= 144-1Z2É

or l= 156.2T

or I = 12.5 cm

Total surface area of toy
= craved surface area of comet curved surface
area of hemisphere

= IT h l -1 21T ee'

= it r ( l-12h)
= 2¥ ✗ É§ (12.51-2×3-5)

= 11×19-5

= 214.5 rent

n4- ledge of cube , a 7 am

n

Diameter of base of hemisphere
= edge of cube -_ 7cm
i. Greatest diameter the 7am

hemisphere can have = 7cm 7

Radius of base of hemisphere,
"

<
7am

L

th

h=dz- = Iz em
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'

surface area of solid
= surface area of cube -1 curved surface area of
hemisphere - area of lease of hemisphere

= 6 a2- -121Th2 - ith2

= 6 a 2 t ith

= 6×72 -12¥,¥¥_☒ 7-2
-

= 294 -1 7¥

= 2941-38.5

= 332.5 emf

5. Diameter of base of hemisphere ⇐⇐-

= edge of cube = l units

-Radius of base of hemisphere, ee ^

= f- units
e

Surface area of the remaining
solid = surface area of cube ÷,

+ curved surface area of
hemisphere - area of base of hemisphere

= 612 + 2ith 2-
- ith

2

= 6 12 -1 IT ez
2

= 612-1 it (G)
2

= 612-1 1¥

= 24l2-4TI = ¥12124 + it) square units
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9 mmn

6. Diameter of capsule , D= 5mm €
< '

¥13mRadius of base of cylinder
,

and hemisphere , h=dz- = -52mm 14 nnm

Length of entire capsule = 14mm
Length of cylinder , h= 14 - ( rte)

= 14 - 2h

= 14 -✗✗¥

= 14-5

= 9 mm

Surface area of capsule
= curved surface area of cylinder -12✗ curved
surface area ←of hemisphere

= 2 ith h -1 2 ✗ 2ñh2

= 2 it uh -14 ith
'

= Zits ( h -12h)
= 2¥ ✗ § (91-12×5-+1)

1-

=

1¥ ✗
14-2

= 220 mmZ

7- Height of cylinder , h= 2.1m µmDiameter of base
,
D= 4m

ñ
Radius of base of cylinder and cone, { 2.1mhe = D= = 4-2 = 2 _m

Slant height of cone, I 2.8m É
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Area of canvas used for making the tent
= curved surface area of cone 1- curved surface
area of cylinder

= Felt 21T huh

= ith ( l-12h)
= 2¥ ✗ 2 (2.8--12×2-1)

= 4¥
,

✗ 711

= 44 m€

cost of 1 m
' of canvas = E- 500

Cost of 44 m2 off canvas = 44×500
= I 22000

EE
8. Height of cylinder, h= 2.4cm
Diameter of base of cylinder ,D= 1.4cm 2.4cm

Radius of base of cylinder and congee
= ¥ = 1¥ = 0.7cm

⇐
v

Slant height -off come ,l=h2tÑ
=(2.4)Z-(o7#
= 57640.4T

= 6.25T

= 2.5cm

Total surface area of remaining solid
= total surface area of cylinder -1 curved surface
of cone - area of base of cylinder

= 2 # huh -12# ed t Tel - ite
'

= 21T teh t ith titled
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= ite (2h -1 rtl)

= 2¥
,

✗7 (2×241-0.7+2.5)

= 2.2 ✗ 8

= 17-6

= 18 am
2

9. Height of cylinder, h= 10cm YE:-.Radius of lease of cylinder and
hemisphere , h= 3- 5cm

Total surface area of toy v

= curved surface area of cylinder
+ 2x curved surface area of hemisphere

= 21T huh -1 2×2 ith'

I 21T huh -1 4 its2

= 2 it rlh -12h)
= 2x 2¥

,

✗ É_ (10-12×3-5)
-

= 22 ✗ 17

= 374 cm2
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